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Star all chiral carbon atoms for the following compounds and cal culated the possible number of

isomers. (20 ~)

(D 2 3) (4)

Select the best answer for the following questions. (20 %)
(1) Which one is ameso compound?

(A) (B) (© (D)

(2) Which would be the major product for the following reaction?

(A)

(B) (©) (D)

(3) Which would be the major product for the following reaction?

(A) (B)
©) (D)
(4) Which would be the major product for the following reaction?

(A) (B)

(© (D)

3. Draw the mechanism for the following reactions. (10 4*)

4. Predict the mgjor organic products: (& /- 42 5 » » 3+ 20 »°)



